154

¢ 3 ¢
5 2 REE | Mg | BRI
(B | B/ER A
—iR1EH
X&_|&SECC)| KECC) | HEBKZRE | FiiR 48 BS
4H| thREE 20.3 16.2 == B me mR
6A| =Y 21.5 19.2 == B me me
8A|l HBh 34.0 26.0 == BE ®me mR
10A| HBh 26.2 20.3 == BE me mR
128] Bh 13.0 12.0 == B me mR
28| _#&n 40 53 RIE B R me
4 EBIEIEE _
H DO BOD SS PNTFEE
P (mg/1) (mg/) | (mg/D | (MPN/100ml)
EEfE| 65~85] 75LLF | 20LF | 25L0F | 1000LAF
EHIE(75%IE) = 9.5 0.8(0.9) 2 -
48] 80 9.2 0.9 <1 -
6A] 79 8.9 0.8 1 -
8H] 80 7.9 0.8 5 -
10A] 7.9 8.7 0.9 1 -
12A] 77 11 0.5 3 -
2A] 80 11 1.0 2 —
REIEE
HREOL| £IT7Y E ANEIOL | WMFE fioK &8 7 IL¥ILKEE|
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#E] 001 LUF | FEt&H | 001LLF | 0050LF [0.01LLF | 0.0005LLF
EHIE - - - - - - -
afq - - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
128 - - - - - - -
;| - - - - - -
D2/ ]=]=F] = |1.2->700[11->san| Y A-1,2-S5a][1.1,1-Fj70
PCB e, | mEfBE |T 0 Tol NIFLo nTAs
(mg/l) | (mg/I) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] JEEH [002L0LF | 0.002LLF | 0.004LLF | 00200 F | 0.04LLF 1T
S — — - - - - -
7y;] - - - - - -
6Al - - - - - - -
8Al - - - - - - -
108 - - - - - - -
128 - - - - - - -
;| - - - - - -
1,1,2-ry4 (RSO0 [FS54900x(1,3-o-0n = N FAAUA
aaz4y | TFLY | FLo Jaxy | T4 YUY NI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
H#Z(E]0.006LLF[003LLF| 001LLF [ 0.002LLF [0.006LLF| 0.003LLF | 0.02LLF
EH — — - - - - -
7y;] - - - - - -
6Al - - - - - - -
gAl - - - - - - -
10 - - - - - - -
128 - - - - - - -
2A] - - - - - - -




HEBNEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—A~FH RILLT IV
e EER e 2 2HEHE | JAAKLL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
FH{El - 35 0.31 - - ~ -
4A - 2.8 0.27 - - - -
64 - - - - - - -
sA| - 22 0.19 - - - -
108 - 4.0 0.29 - - - -
12H - - - - - - -
28 - 4.9 0.48 - - - -
BiLH WIHERE (B ; e i s
IT/=| xS cobD el > AR BREER
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (# S/cm)
F{E - - 2.6 = = = -
48] - - 2.6 - - - -
6A| - - 32 - - - -
sA| - - 2.8 - - - -
10R] - - 2.1 - - - -
12A| - - 25 - - - -
28 - - 2.6 - - - -




RIS

N § &
o 5 MNEH I E BARN
(@B ) | B|E A
—{RIE R
X&_|&SECC)| KECC) | E#BKE | FiR 18 BS
48| HREE 22.0 19.8 == BE me mR
6Al =Y 21.6 18.5 =IE BE ®me mR
8Al EBh 34.8 25.7 =E BE meE |
10A| Bh 26.0 20.9 == BE |meE |
128 BBh 13.0 12.2 =IE BE me mR
28| WBEh 3.7 5.5 == BE BE |ma
EERIEIEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) _| (MPN/100ml)
EE(E] 65~85] 75LLF | 20U | 25LLF | 1000LLF
EHIE (75%1E) - 10 1.0(1.1) 2 =
48] s2 9.7 1.0 1 -
64 8.0 9.0 1.1 1 —
8A| 80 7.8 0.8 3 -
108] 78 8.5 1.0 <1 -
128 77 12 0.7 2 -
28| 82 13 1.3 <1 -
BEEE
NI INED & N ANEonL | #BE fKER 7L ILKEE]
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEEE] 001 LLF | FERH | 001LLF [ 0058LF [0.01LLF | 0.0005LLF e
EH{E - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8Al - - - - - - -
108 - - - - - - -
12A] - - - - - - -
28] - - - - - -
SoanA .o .. [1.2-2570801,1-Ssaa[ 2 X-1,2-55a1,1,1-F)50
PCB "7, ~| BEERR |\ 1oy | 'zFLy | mrFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEEE] EEH [002LLTF | 0.002LLF | 0.004LLTF [0.02LLF | 0.04LLF 1LF
EEZS - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8Al - - - - - - -
108 - - - - - - -
12A] - - - - - - -
28] - - - - - -
1,1,2-ky4 [Ro0A(Fr54500x(1,3->9an — . —sen FARA
anzsy | TFLY | FLv gy | T7IA | YIDY 1%
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
E#{E]0.006LLF[0.03LLF| 0.01LLF [ 0.002ELF [0.006 LA F| 0.003LLF | 0.02LLF
EEZS - - - - - - -
agl - - - - - - -
6A| - - - - - - -
8A| - - - - - - -
108 - - - - - - -
12A] - - - - - - -
2A] - - - - - - -




(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EEME] 001LLF [001LLF| 10UF 0.8LLF 1LLF
—weEl - [ - - - -
47 - - - - -
64 - - - - -
8H - - - - -
10H - - - - -
12H - - - - -
2H - - - - -
EDHIEE
N—~%4 \ RILLTIL
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
THEl - 3.4 0.23 = = = =
4R - 2.6 0.22 - - - -
64 - - - - - - -
sA| - 1.9 0.15 - - - -
108 - 4.1 0.25 - - - -
12H - - - - - - -
28 - 48 0.30 - - -
BiLH HIHETE | B : e i s
IT/=| ks cobD el > AR BREER
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (4 S/cm)
F{E - - 2.9 = = = -
4A - - 3.0 - - - -
64 - - 3.6 - - - -
8A - - 3.2 - - - -
10H - - 2.3 - - - -
12H - - 2.5 - - - -
2H - - 2.5 - - - -




RIS

BA A4 BRI
iR
(H#ESH) | BB A
—iR1ER
Xz | SUECC) [ KiE(°C) | HEUKE iR =i BR
48| HREE 22.3 19.8 == BE me |
6Al =Y 21.4 18.6 =IE BE me |
sAl ®\Bh 34.9 26.0 =E BE ) me
108| Bh 25.8 21.7 =IE BE me |
128 BBh 13.0 12.0 =IE BE me |
28| Bh 3.9 6.1 RE BE ) mR
HERIEEE _
oH DO BOD SS KEEHK
(mg/1) (mg/1) (mg/1) | (MPN/100ml)
RElE| 6.5~85 | 715LLE 2000F [ 25BLF | 1000BLF
EHIE(75%1E) - 10 1.2(1.4) 3 6100
48] 384 10 11 <1 -
6A] 82 9.0 1.4 1 -
8A|l 8.1 7.9 0.7 4 11000
10A] 82 8.8 1.2 2 -
128 78 11 1.0 4 -
2A] 86 13 1.8 3 1100
BEEE
N INESS & B NS kB |7 FILKEE
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] 0.01LLF | JE4H | 0.01LLF | 0.058LF | 0.01ELF | 0.0005ELF JERH
EfE]  <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 =
48] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
68 - - - - - - -
8A| <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
10A] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
12| - - - - - - -
28] <0.002 <0.1 <0.005 <0.02 <0.001 <0.0005 -
S II=E we |12-2900(11-S900(2Z-1,2-40(1,1,1-k)50
PCB "7, ~| BEERR |\ " 1oy | 'zFLy | mIFLy | nzsy
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
] JERE 00280 F ] 0.002LLF | 0.004LLF | 0.02ELF | 0.04LLF 1LF
EHiE - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
48 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
68 - - - - - - -
8H - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
104 - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
12| - - - - - - -
2H - <0.002 <0.0002 <0.0004 <0.002 <0.004 <0.1
1,1.2-ky4 [FUoARA[FFSS00x(1,3->900 = SN FARUA
ﬂﬂléf IFLY| FLv Jaxy | TO7LA| YRUY LI
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
2 {E]0.006 L 0.03LLF | 0.01LLF | 0.002LLF [0.006 L F| 0.003LLF 0.02LLF
E{E] <0.0006 | <0.003 <0.001 <0.0002 [ <0.0006 <0.0003 <0.002
48] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
68 - - - - - - -
8 Al <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
10A] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002
12| - - - - - - -
28] <0.0006 | <0.003 <0.001 <0.0002 | <0.0006 <0.0003 <0.002




HEBEEREY

(mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
HEEE] 001LLTF 1001LLF| 10LLF 0.8LLF 1LLF
EH{E]  <0.001 <0.001 2.3 0.1 <0.1
4H] <o0.001 <0.001 2.0 0.1 <0.1
64 - - - - -
8H| <0.001 <0.001 1.6 0.1 <0.1
10H] <0.001 <0.001 2.3 <0.1 <0.1
12H - - - - -
2A8| <0.001 <0.001 3.3 <0.1 <0.1
EDHIEE
N—A~FH RILLT IV
g EER £ & £EH | JAORLL | TS
(mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1) (mg/1)
EH{E - 3.0 0.21 - - - -
4R - 2.9 0.20 - - - -
64 - - - - - - -
8A - 1.8 0.17 - - - -
10H - 3.2 0.22 - - - -
12H - - - - - - -
28 - 3.9 0.24 — — — —
BiLH WIHERTE (B s o =3 S
IT/=| xS coD el > AE EXizE=
(mg/D) | (mg/I) (mg/1) (mg/1) (mg/1) (BF) (uS/cm)
EREl - - 3.1 0.07 - - =
4R - - 3.0 0.05 - - -
68 - - 3.7 - - - -
8A - - 3.1 0.02 - - -
10H - - 2.3 0.02 - - -
12H - - 2.9 - - - -
28 - - 3.3 0.20 — — —




